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5| <stdio.h> Y scanf() fEA @A

#include <stdio.h>

int main(){

int n;
scanf("%d",&n);
print("%d\n",n);
return 0;




scanf(“%d”, &n)
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#include <stdio.h> HERTEAEZENE -
int main(){ « F—EZE: %d
int n; RNEEWNZE—ETENNEEE -
scanf("%d",&n);
print("%d\n",n); - FB_EZLE: &n
return 0; RNERBIN T ENEEIEELSN
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#include <stdio.h>

int main(){

int n;
("%d",&n);
("%d\n",n);

return 0;

}

printf()
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Extended concept
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= 5§ 4bytes -2 147483648:.:2147483647 >
-214748364822147483647 =X

REH long int 4bytes 5% 8bytes  -9223372036854775808% %ld
9223372036854775807

-9223372036854775808 %

REH long long int 8bytes 9223372036854775807 %lld
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int a, b;

scanf(“%d %d”,&a,&b );
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int a, b;

scanf(“%d”, &a);

scanf(“%d”, &b)
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printf("%6d %6d %6d",a,b,c);
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%f

BIEE FME float 4bytes 2.939x10-3823.403x10+38 (7 sf)
EIEE e double 8bytes 5.563x107309%1.798x10+308 (15 sf) %I f
FIT char 1bytes R 5-128812750F 255 %c
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#include <stdio.h>
#include <stdlib.h>

int main( ){
float num;
scanf(|"%f"|,&num) ;
printf("%sf\n",num);
return 0;




) 8 E i F B BALRL: %.2f (HR/ERBE 1% 2451)

scanf(“%d %f"”,&helght,&welght);
printf(“55%dA 7 i2E%.2fAF\n“,height,weight);



